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Answer ALL questions,

PART A — (10 x 2 = 20 muorks)

What is the total energy of the discrete wran signal x(n) which takes the value
of unity at n = -1, 0, 17

Draw the signal x(n) =win)—uln " 3).

Mention the basic factara tha: at ot the ROC of Z tranaformation.
Find the Z-transform oy ‘a} » Jgital impulse (b) a digital step.
What is FFT?

Taw many multinlic.*ions and additiona are required to compute N point DFT
using radix-2 F1*7¢

Give the e wtion for the order of N and cutofl frequency Q. of the
Butterworin Dlter,

What we he dezign techniques of designing FIR lilters?
Whao & pipelining in a digital signal processor?

Mention the four different buses of TMS320C5x and their funqtions.
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PART B — (5 x 16 = 80 marks)

Determine whether or not each of the following signalz is periodic. If a
signal is periodic specify its fundamental time period.

(1) z(t) =2coa{dxt)
(i) zlt) =sin(15 7)) +pini{20x2)

(1) =z(r)=35an(2n)

-
"

{iv) =xln)- uus( %]coa[-’%‘-J 4
. bN £

Or
Determine whether the following system is (i) stat.c or dynamic

{i1) lincar or nonlinear (iii} shift invariant or not (i | c7usal or noncasual

{v) atable or unstable.

¥n) = x(njcos{nmnl.

i) State and prove convolution theorem 7 transform. {8)

(i} Given z(r)=dln)+248(n -1) anl 3ia) - 84(n - 1)+ dln)-dn-1),
find z(n)*y(n) and X{Z)-Y(I(). 8)

Qv
Find the Z-transform of
(i) cosap-uin) xin)

(i) sinag-wlr) = a0 . - (16}

(i)  Delermine the 8 point DET of the sequence
xr) =10, 2 1,1,1,0,0,0}. (8)

(i) Find the Circular convelution of x(n)=(1, 2 3, 4] and

2N 14, 8, 2, 1. : (8)

Or
Decarmine the 8 point DFT of the signal x(n)={1,1,1,1, 1 1, 0, 0} and
si2tch its magnitude aod phase. {16)
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14. (a) Obluin the direct form I, dh’ec@ form II, cascades und parallel form
realization for the system

wWn)=01lyn-1)+02yr-21+3xn)+3.6xn-13+0.6xin-2}.

(b)

(a)

(b}

Or

Design an ideal Hilbert tranaformer having frequency response

He1=j; for —x <0

=-j; for 0w m.

Using (i} Rectangulur window (i) Blackman window for N =11,

(i)

(ii)

Find Lhe effect of co-effivient quantizalion on the pele wealions of
the second arder TIR ayatem given by

1.0
(1-05% *){1-04527")

H(Z)=

when it is realized in Direct form-T and ir. Cascade form, Assume a
word leng& of 3 bita. (8)

Fxplain the characteristics of a limi® ey e oscillation with respect
to the azystem described oy  the difference equation
¥n)=0.95y(n 1)+ x(n). Detesm, a the dead band of the filtar. (8)

o
Cive a detailed note on Direcy M ~ory Access Controller in TMS320C54x
Pracexsor, : (16)
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